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300K i 220,000 93,500 x N 209,000 82,500 x N
300~ 1,000 7% 275,000 104,500 x N 264,000 93,500 x N
1,000~ 2,000 330,000 129,800 x N 308,000 121,000 x N
AR 2,000~ 5,0007# 467,500 198,000 x N 440,000 187,000 x N
5,000~10,000 % 576,400 275,000x N 550,000 253,000 x N
10,000~ 680,900 330,000 x N 660,000 308,000 x N
300K 176,000 75,900 x N 154,000 69,300 X N
300~ 1,000 7% 220,000 78,100 x N 198,000 71,500 x N
578 1,000~ 2,000 275,000 106,700 < N 242,000 96,800 x N
2,000~ 5,000 7# 352,000 169,400 x N 330,000 154,000 x N
5,000~10,000 % 440,000 220,000 x N 396,000 198,000 x N
10,000~ 550,000 275,000 x N 495,000 253,000 x N
300K 110,000 34,100 99,000 33,000
300~ 1,000k 7% 110,000 34,100 99,000 33,000
i 1,000~ 2,000 176,000 71,500 165,000 66,000
2,000~ 5,000 203,500 84,700 187,000 77,000
5,000~10,000 % 275,000 121,000 253,000 110,000
10,000~ 330,000 146,300 308,000 132,000
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ERREE 5k - SHEMHB*® THEE X
. L 22,000 33,000 42,000
FRETESE
(20,000) (29,000) (38,000)
33,000
300 ki (29.000) 33,000(29,000)+4,000 x{EF%t | 55,000(49,000)+4,000 x {F = %%
HEE 55,000
300~1,000m k% 55,000(49,000)+4,000 X {EF% | 77,000(69,000)+4,000 X {F = %%
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